INGILIZCE YAZILI SINAY SORULARI

Ingilizce yabanci dil sinavi geviri ve test olmak iizere iki boliimden olugmaktadir. Tiirkge’den
Ingilizce’ye ve Ingilizce’den Tirkge’ye geviri metinlerinin her biri 30’ar puan;

yirmi soruluk test boliimii ise her bir soru deferi 2 puan olarak hesaplanacaktir.

Turist Rehberligi Meslek Yonetmeligi geregi bagarili sayilmak igin 100 puan iizerinden en az
75 puan alinmalidir,

Size dagitilan test ve g¢eviri cevap kdgilanimn sag ist kisunlar isim ve diger bilgiler
yazildiktan sonra yapistirtlarak kapatilacaktir.

Basarilar dileriz...
Asafida verilen Ingilizce metni Tiirkee’ye geviriniz, (30 puan)

INTELLIGENCE

When we talk about intelligence, we do not mean the ability to get a good score on a certain kind of
test, or the ability to do well in business; these are at best only indicators of something larger, deeper,
and far more important. By intelligence we mean a style of life, a way of behaving in various
situations, and particularly in new, strange, and puzzling situations. The true test of intelligence is not
how much we know how to do, but how we behave when we don't know what to do. The intelligent
person, young or old, meeting a new situation or problem, focuses on it; he tries to perceive everything
about it. Besides, he thinks about it instead of what it might cause to happen to him; he struggles with
it boldly, imaginatively, and if not confidently, at least hopefully. If he fails to master it, he looks
without shame or fear at his mistakes and learns what he can from them. This is intelligence.

ZEKA

Zekddan bahsettigimiz zaman, belirli bir testten iyi bir not almayi, ya da bir iste basarih
olma yetenegini kastetmeyiz; bunlar en fazla, ¢cok daha genis, derin ve dnemli bir seyin
gostergeleri olabilir. Biz zekd ile yagam bigimini, 6zellikle de yeni, tuhaf ya da sagirtic
olabilecek farkh durumlardaki davranma bicimini kastediyoruz. Zekdnin gercek testi bir
seyl yapmayl ne kadar bildigimiz degil, ne vyapacagimizi bilmedigimizde nasil
davrandigimizdir. Zeki insan, geng ya da yasli, yeni bir durum ya da sorunla karsilagtiginda,
ona konsantre olur; ve ilgili her seyi algilamaya ¢alisir. Bunun yaninda, zeki kisi problem ya
da farkh durumun kendisine yaratabilecegi durumdan ziyade, olayin kendini diisiiniir;
onunla cesurca, yaratici bir sekilde, emin olmasa bile en azindan Gmitli bir sekilde
micadele eder. Eger Ustesinden gelemezse, utang ya da kaygi duymaksizin hatalarina
bakar ve onlardan dgrenebilecegini dgrenir. Zekd budur.




Asapida verilen Tiirkce metni Ingilizee’ye geviriniz, (30 puan)

KAMERA ve GOZ

Kamera ve goziin yapis1 birgok yonden birbirine benzemektedir. Hem kamerada hem de gozde
lenslerin iginden gegen 11tk miktarim diizenleyen bir arag vardur. Kamerada 15181 kontrol eden ve
kendini ona gore ayarlamasmu saglayan 6zel bir parga vardir. Aym sekilde, gozdeki irs de 118
yogunluguna gore gozbebeginin bityiikliigiini ayarlar. Hem kamera hem de goz 1s15a, golgeye ve
renge karsi duyarhidular. Film, 15181, golgeyi ve rengi kaydeder. Goz ise onlari algilar, fakat
kaydetmez. [ki goz birlikte, ii¢ boyutlu bir resim olustururken, buna kargin kamera lensleri iki boyutlu
bir resim olusturur. Bu yiizden, kamera ve goz arasmda, farkliliklardan daha ziyade benzerlikler
bulunmaktadur.

THE CAMERA AND THE EYE

The structure of the camera and the eye is similar to each other in many ways. Both the
camera and the eye have a device to regulate the amount of light that passes through the
lenses. In the camera, there is a special piece that controls the light and adjust itself
accordingly. Similarly, in the eye, iris automatically adjusts the size of pupil according to
the intensity of light. Both the eye and the camera are sensitive to light, shade and color.
The film records light, shade and color. The eye perceives them but does not record them.
The two eyes together produce a three-dimensional image, the camera lens, on the other
hand, produces a two-dimensional image. Thus, there are more similarities rather than
differences between the camera and the eye.




TEST Sorularmmn Cevaplarm Test Cevap Anahtarna Isaretleyiniz.

L Asagida verilen parc¢aya gire sorular: cevaplayimz.

Since health care accounts for nearly one seventh of the American national economy, any
attempt to reform it enters a minefield of explosive issues. President Clinton's health-care plan,
many experts say, might shake up the health-insurance industry so violently that it could shrink
from about 500 to as few as to 10 companies; costing thousands of jobs. Businesses complain that
new health-coverage contributions would be disastrous; there is even talk that up to a million
jobs will be lost as a consequence. Though the American Medical Association has so far sent
signals that it would endorse the plan, the physicians themselves and the taxpayers are
extremely worried about it.

1. The writer argues that President Clinton's health-care reform policy ____.
A) is being favourably received by private doctors and taxpayers

B) has been completely rejected by the American Medical Association

() isbound to cause a great deal of unrest and discussion

D) will boost the insurance sector

E) will create many new jobs for the unemployed

2. The passage is mainly concerned with .

A) the rising problems of unemployment in the American economy

B) the economic problems of the American medical staff

() the financial burden health care has on the American economy

D) President Clinton's reasons for a thorough reform in health care

E) the likely econpmic consequences of the new health care plan in the States

3. According to the passage, one of the major problems likely to result from the new health-care
plan is that

A) a few physicians will find themselves without work

B3) businesses will be badly alfected by the lrealth-care fees demanded of them

C) there will be a fierce competition among insurance companies for coverage of the unemployed

D) the taxpayers will not be able to receive adequate iedical care

E) president Clinton's popularity will decline sharply

Many of the experts tell us that the personality could be moulded by the position of the stars and
the planets at the moment of birth. Others believe that our characters may be shaped even as
early as the moment of conception. Biologists have known for some time that the lives of the
most primitive creatures can at times be controlled by the rhythm of the sun and the moon.
Astrologers go one step further and they claim that not only our bodily functions but also our
decisions and emotions are determined by the cosmos. The heavenly bodies could be exerting
their influence on us constantly.
4. The passage mainly states

A) the movements of the planets
Bl the probable influence of stars on our characters

C) how astrologers differ from biologists

D) the lives of the most primitive creatures

E) the rhythms of the sun and the moon ’




5. If you mould someone,
A) you influence them so that their character develops in a particular way
B) you make them feel determined to do something
C) you tell them what they think is right or wrong
D) you make them behave in a way that is acceptable
E) you make them feel emotions such as romadnce or sadness

6. According to the passage, the astrologers claim that
A) the lives of the earliest men had been controlled by the cosmos
B) conception is the starting point of the changes in our personalities
C) they claim that we all decide upon others' emotions
D) all our decisions and emotions as well as our bodily functions are determined by the cosmos
E) they claim that biologists are wrong about their beliefs

7-20. sorularda ciimlede bog birakilan yerlere uygun diisen ifadeyi bulunuz.

7. Sue: Can I get you anything, sir?
Pat:
Sue: I'll be happy to provide you with one. I have reported the problem to the captain.

A) I have been trying to get my driver's license.

B) Yes, you can give the name of your supervisor.

C) I can't afford to buy gas any more.

D) Could you give me a map of the campus?

E) Bould you bring me a blanket? The cabin temperature is extremely cold

8. Man : What on earth could that noise be?
Woman:
Man : An argument? They must be having a battle.
A) The children are playing in the next room.
B) Should we argue about it?
) 1t's thut couple upstairs, They must be having another argument,
D) Our neighbours had accepted their house to be knocked down without an argument.
E) The boy next door is having his room redecorated.

9. My uncle, is one of the country's most successful businessmen, was only fourteen years
old when he quit school.
A) where B) whom C) wio D) why E) which

10. The green button on the far left of the machine the volume.

A) interferes  B) discloses  C) regulates D) allows E) arises

11. The new engineer is highly knowledgeable, but can we him to lead the team
successfully?

A) run on B) put on C)make on D) take up E) rely on

12, There was no answer when I tried to phone them, so I thought they out,




A) must have gone  B) could go  C) would rather go D) had better go E) should have gone

13. __  what extent does his article deal the problem of water pollution?
A) To/with B)On/to C) With / about D) For/in E) At/ by

14. the manager looks shy, youthful and mild, he is in fact a rare combination of discipline,
energy and intellect. '
A) So that B) Even so C) Although D) Therefore E)in case

15. It wouldn’t have surprised me if he ____ after that incident.

A) resigned  Blhad revigned C)were to resign D)has resigned E)would’ve
resigned

16. Obviously there _____ a remarkable improvement in the condition of the patient since he _____

surgery.

A) is/undergoes B) will be / had undergone

C) would have been / would undergo D) was / has undergone
E) has been / underwent

17.  Unfortunately there was an electricity cut just as we the new computer.
A) are installing B) would install C) have installed D) were installing E) will install

18. She declared loudly that she would not marry him he was the last man on the Earth.
A) dueto B)since  C)nomatter D)evenif E)moreover

19. 1 wish you late for meetings all the time since everyone gets fed up with waiting for
you.
A) might notbe  B)aren't () wouldn'tbe D) haven'tbeen E) cannot be

20. Thave an exam on Monday, and that is the reason I can't come along for the picnic on
Sunday.
A) when B) why C) what D) whom E) where




